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.
Given below are the'transactions of a certain material for the month of Chaifra :

Chaitra 1 : Opening stock - 800 units @ Rs. 100 per uni
Chaitra 11 : Purchased ' 900 units @ Rs. 110 per unit
Chaitra 13 :lssued 800 units )
Chaitra 17  Issued 200 units
Chaitra 20 : Purchased 1,200 units @ Rs. 120 per unit
Chaitra 23  Issued ; - 700 units :
" Chaitra 25 : Purchased 500 unifs @ Rs. 130 per unit
Chaitra 27 : Returned out of 23" issue 30 units
Chaitra 28 : Stock verification loss 10 units
Chaitra 30 : lssued 300 units
Required: Stores ledger under First-In-First-Out method. [2+3+1]

Ans: Closing balance: 830 units @ Rs. 120, 500 units @ Rs. 130 and 30 units @‘Rs._ 110
63. 2062 Q.No. 3

Given belowrare.the transactions of a certain material for the manth of Baishakh.

Baishakh 1% Stoek in hand " 500 units @ Rs. 10 perunit. -
10 Purchased 1000 units: @ Rs. 12 per unit
- 12 Issued 700 units
18 lssued 300 units AU |
20 Purchased’ 1000 units'@ Rs. 13 per unit
22 lssued & 200 units
; 25 Purchased : 500 units @ Rs. 14 perunit
28 Return from the workshop issued on 18% Baishakh 50 units
30 issued 200 units :
Required: Stores ledger under Last in First Out method. {6}/

Ans: Closing balance: 506 units @ Rs. 1€, 800 units @ Fs. 13; 350 units @ Rs. 14

i
Following are the store fransactions of certain matefial during the month of Chaitra:

1 Stock in hand 200 units @ Rs. 50 each
4 Purchases 490 units @ Rs. 60 each
7 lssued . 300 units
12 Purchases ; 100 units @ Rs. 70 each
16 Returned o store .50 units (issued out of epening stock)
20 Purchases 200 units @ Rs. 80 each
25 |ssued - 7 400 units
28 Stock Verification surplus 20 units
30 Issued 100 units

Required: Store Ledger under LIFO method.

A firm furnishes the following stores transactions for the month of Ashwin: * -

: [243+1]
Ans: Closing balance: 170 units @ Rs. 50 = Rs. 8,500

Ashwin 1 Opening balance  ° 250 units:@ Rs. 5 per unit
2 Receipt from vendor 1000 units @ Rs. 6 per unit
5 lssued 750 units :
- 8 Receipt from vendor 1000 units @ Rs. 7 per unit
9 Returned to vendor * 100 units cut of purchased on 2 Ashwin
12 Issued ! 1000 units y
15 Returned from departments Issued on 5% Ashwin, 20 units
16 Issued s 100 units
25 Shortage in stock taking 10 units

Required: Stores ledger under LIFO method showing received, issued and balance. [2+3+1]
. Ans: Closing balance: 250 units @ Rs. 5= Rs. 1250 and 60 units @ Rs. 6= Rs. 360
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[66. 2060 SUPP. Q.No. 13

Following are the details of receipts and issues of materials during the month June.

June 1

June 5
June 13
June 16
June 23
June 26
June 28
June 28
June 30

Opening stock

Issued :
Received from vendor
Issued

Received from vendor
Issued

Stock verifier found

Return of surplus from work order 50 units 2 Rs. 3 per unit

Issued

1,400 units @ Rs. 3 per unit

700 units

500 units @ Rs. 3.50 per unit

450 units

1,200 units @ Rs. 3.45 per unit

1,350 units
10 units surplus

350 units

Requured Stere ledger under LIFO method showing total received, issued and balance.  [6]
Ans: Closing stock: 310 @ Rs. 3= Rs 930

[13. IVENTORY MANAGENENT

STOCK LEVEL ;

[1. 2071 set b Q.no. 19]

Following information are given.
Maximum consumption per day: 200 units
Minimum consumption per day: 100 units
Reorder period: 10-15 days
Reorder quantity: 1500 units
Required: Maximum stock level

[2. 2070 SetC Q.No. 19

Following informations zre given.
Reorder period: 4 - 6 weeks

Weekly consumption: 2000 - 3000 kgs

Required: Minimum stock level

[B. 2070 Set D Q.Ne. 19

Following informations are given.
Weekly consumption : 3000 - 5000 units
Re order period : 5 - 7 weeks
Re order quantity : 8000 units
-Required: Maximum stock level

4. 2067 (Set B) Q.No. 19|

Following information are given:
Maximum usage in a day 600 units
Minimum usage in a day 400 days
Re-order guantity 1,500 units
Re-order period 2 to 6 days
Required: Maximum stock level

[5. 2088 Q.No. 19]

Following information are available relatmg inventory management:
Maximum stock level

Re-order level

: 5,000 units

;2,500 units

Minimum censumption per day

Minimum re-order period

Required: Re-order quantity

: 300 units
: Bdays

[1+1=2]

Ans: 3500 units

[2]
Ans: 5,500 kgs

12
Ans: 28,000 units

[2]
Ans: 4,300 units

2]
Ans: 4,300 units
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6. 2067 Q.No. 18

The following information is available in respect of factory:

Maximum Consumption 3,600 units. ~ Minimum Consumption 1,200 units
Re-order Quantity 14,400 units  Re-order period : 4.6 days
Re-order Level 21,600 units

Required: Maximum stock level : [2]

Ans: 31,200 units

[7. 2066 Supp Q.No. 18]
. The following information are provided:
Re-order level 4800 Units, Re-order quantity 4000 Units
Maximum stock level 8,000 Unifs, Re-order period 4 to 6 days

Required: Minimum Consumption per day. > [2]
\ Ans: 200 units

The following information are provided:

Maximum level 6,200 units

Re-order quantity 3,000 units

Minimum consumption - 200 units per day

Minimum re-order period : 8 days

Required: Re-ordering level. [2

_ Ans: 4,800 units
:

The following information are avajlable’in respect of a material

Maximum consumption perday 300 units

Re-order period 4 to 8 days

Minimum consumption per day 100 units

Required: a. Re-order |evel b. Minimum stock level 2]

Ans: (a) 2,400 units (b) 1,200 units

[10. 2064 Q.Nc 12 (OLD)|
The following information are available:

Re-order period 4 10 6 pays
Daily consumption 40 1o 60 units
Maximum level 2,100 units
Re-order level " 1,460 units
Required: Re-order quantity [2]
. Ans: 800 dnits
Following information are given:
Lead-time: : Maximum 4 days “Minimum 3 days
Weekly consumption: ~ Maximum 500 units Minimum 400 units :
Required: a Reorder level b. Maximum* stock level ("Minimum)  [1+1]

Ans: (a) 285.7 = 286 units (b) 61 units
12. 2062 Q.No. 10 .
Following information are available fo you.

a. Lead-Time: Maximum: 6 weeks
Minimurm: "~ 3weeks
b. - Weekly consumption: Maximum: 400 units
Minimum: 200 units
Required: a. Re-order level b. Minimum stock level [1+1]

Ans: (a) 2,400 units (b) 1,050 units
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13. 2061 Q.No. 10 | g

In a company, weekly minimum and maximum consumption of material A are 25 units and 75
units respectively. The Re-order quantity as fixed by the company is 300 units. The material is
received within 4 to 6 weeks.

Required: Maximum stock level of material A. [2]
i Ans: 650 units

4. 2060 Q.No. 9

The following information are provided:

Re-order period Sto7days  Daily consumption 50 to 60 units
Maximum level . 1,800units - Re-orderinglevel - *1,400 units
Required: Re-order quantity. 2

{15. 2060 SUFP. Q.No, 14] : 3

Ans: 650 units

The firm provides you the following information:

Re-ordering quantity 600 units .

Rate of consumption: Maximum 30 units/day
Average 25 unitsiday

Re-ordering level 400 units

Lead time: Average 12 days
Minimum G days . :

Required: Maximum stock level. 2

E Ans: 870 units

ECONOMIC ORDER QUANTITY

i

2073 Set G Q.No, 18] ' ’

The following information are given in respect to a material:

Annual requirements 60,000 units

Purchasing price per unit Rs. 20

Carrying cost 20% of purchasing price per unit

Ordering cost per order - Rs:300

Required: Economic order quariity . 2
Ans: 3,000 units

2073 Set D Q.No. 18}

Following information are provided:
Annuzl requirement : - 5,000 units
Ordering cost per order :Rs. 160
1Cost per unit :Rs.2
Carrying cost per unit : 10% inventcry value
Required: Economic order quantity 2
. . Ans: 2,828.43 units

2072 Supp Q.No, 18]

The material purchase details are as under:

Annual consumption 60,000 units

Ordering cost per order . Rs.50°

Purchasing price perunit ~ »  Rs. 60

Carrying cost 10% of unit value

Required: Economic Order Quantity ! : [2]
Ans: 1,000 units

2072 Set C Q.No. 19}

Following information are provided:

Annual requirement 10,000 units

Ordering cost per order Rs.80

Carrying cost per unit Rs.0.40

Required: Economic order quantity [2]
! Ans: 2,000 units
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5. 2072 SetD Q.No. 18]
The following informations are provided in respect fo material:

Annual requirement 50,000 units §
Purchase price per unit Rs.20 :
Ordering cost per order Vs i Rs.500
Carrying cost 10% of inventory value

Required : Economic order quantity : (2]

Ans: 5,000 units

|- 2072 SetE Q.No. 19]
The details for material purchase are:

Annual requirement 10,000 units
Ordering cost per order” Rs.20
Carrying cost Rs, 0.40 _
Required:” i. ~ Economic order quantity ii. Mo, of purchase orders - [1+1=2]

Ans: (i} 1,000 units (ii) 10 times

[7._2071 Supp Q.No. 19|
- The following information are available in respect fo 2 material;

Annual requirement: 20,000 units.

Purchasing price per unit: Rs.10

Ordering cost per order: Rs.200

Carrying cost: 20% of unit value

Required: Economic ordef quantity : 2]
Ans:.2,000 units

8. 20718SetC Q.No. 19
Following information are given:
Annual requirement : 900 units Cost per unit ; Rs. 2
Ordering cost per order: Rs. 10 Carrying cost | per unit 10% of cost

Required: Economic order quantity : A [2
Ans: 300 units

B._ 2070 Supp @No. 19] { s

The details of material purchase by a firm are.

Annual usages: 600 units

Cost per order: Rs. 12

Cost price per unit of material: Rs. 20

Storage cost: 20% per unit value :

Required: Economic order quantity (2]
) 'Ans: 60 units

[10. 2069 Supp Set A Q.No. 18]
The following information are given:
Maximum consumption 20,000 units
Cost per units Rs. 20
Cost per order Rs. 50
Carrying cost 10% of units cost

Required:-Economic Order Quantity ; 2
Ans: 1,000 units

[11. 72069 Supp Set B Q.No. 19]

The details for material purchase of a company are:

Annual consumption - 25,000 units

Cost per units - Rs. 20

Carrying cost - 20% of material cost

Ordering cost per order - Rs. 500 .

Required: Economic order quantity g 2]
: Ans: 2,500-units
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[12. 2089 (Set A) Q.No. 19
Following information are given in respect of material.
Annual consumption  : 5,000 kgs

Cost per kg. :Rs. 200

Cost per order :Rs. 250 -

Carrying cost 20% of material cost

Required: Economic order quantity. (2]
2 : Ans: 250 kg

[13. 2068 Supp Q.No. 18]

The details for material purchase of a firm are:

Annual Requirement 5,000 units

Cost per order Rs. 400

Cost per unit Rs. 20

Carrying cost 20% of inventory cost.

Required: Economic Order Quantity ; [2]

Ans: EOQ 1,000 units

[14. 2067 Supp Q.No. 18]
Following information are given is respect of a material:

- Annual requirement 10,000 units
Ordering cost per order Rs. 20
Cost per unit Rs. 4
Carrying cost 10% of per unit cost
- Required: a. Economic order quantity b No. of order per year [1+1]

Ans: (a) 1,000 units (b) 10 times
The details for material purchase of a company are:
Annual reguirement 5,000 units
_ Ordering cost per order Rs. 20 °
CostperunitRs.2 /
Carrying cost 10% of matenal cost
Required: a. Economic order quantity b. No. of purchase orders. ] [2]

Ans: (a) 1,000 units (b) 5 times
The following information are available in respect of a material;
Annual consumption 5,000 units
Cost per order Rs. 50
Cost per unit Rs. 2
Holding cost of material 1% of per unit material cost

2

©

- Required: a. Economic order quantity b. Number of orders : [1+1]

A Ans: (a) 5,000 units (b) 1 time

Following information are given in respect of a material:

Annual requirement 50,000 kgs

Cost per kg Rs. 20~

Cost per order Rs. 2.50

Carrying cost 20% of material cost

Required: a. Economic order quantity b. No. of orders per year. [2]

Ans: (a) 2,500 kgs (b) 20 times

[18. 2065 Q.No. 10 (O1d)]
The following information are given:

Annual requirement 40,000 units

Ordering cost per order ' Rs. 400

Purchasing price per unit Rs. 20

Carrying cost per unit 10% of material cost

Required: Economic order quantity - : ; ; 12]

Ans: 4,000 units



[13. 2084 Q.No 13 (OLD)|

The details for material purchase of a firm are:
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Annual requirement 10,000 units

Crdering cost per order Rs. 200

Cost per unit Rs. 20

Carrying cost per unit 20% of inventory value :
Required: a. Economic order guantity b. number of orders per year. [2]

[20. 2064 Supp. Q.No. 18]

Information regarding the material are as under:

Annual consumption -
Purchasing price per unit

Carrying cost
Ordering cost per order
Required: a2 Economic Order Quantity

A firm provides the following information,
Annual requirement
Cost per kg
Cost per order
Carrying cost per kg
* Required: a. Economic order quantity

The following information is provided:
Annual requirement
Cost per order
Cost price per unit

J

Ans: (a) 1,000 units (b) 10 times

10,000 units
Rs. 20
. 10% of inventory value
Rs. 400 &
b. No. of order per year [2]
Ans: (a) 2,000 units (b) 5 times
50,000 kgs
Rs. 10
Rs. 500
20% of inventory value -
b. No. of orders per year [1+1]
Ans: (a) 5,000 units (b) 10 times
30,000 units per month
Rs.300
Rs.8

Carrying cost per unit25 % of inventory value

Required: a

.23 2061 Q.No. 11

Economic order quantity

.

b. No. oforder per order [1+1]
Ans: (a) 3,000 units (b) 10 times

~ ' The details for materials purchases of a firm are:

Annual requirement
Cost per unit
Cost per order
Inventory carrying cost
Required: a. Economic order quantity

24. 2060 Q.No. 10

- 18,000 units

-Rs. 27

-Rs. 150

- 20% of inventory cost

b. No. of orders per year [1+1]
Ans: (a) 1,000 units (b) 18 times

The details for material purchased of a company are:

Annual requirement 2,000 units
Ordering cost per order Rs. 20 -
Carrying cost per‘unit Rs.2
Economic order quantity 200 units
Required: Total cost of economic order quantity ; 7 [2]
= Ans: Rs. 400
[25. 2060 SUPP. Q.No. 15] :
Following information on materials are given:
Yearly consumption 25,000 units
Purchasing cost per purchase \ Rs. 250
Holding cost per unit 5% of Rs. 40 (unit'cost)
Required: Economic Order Quantity. 2]

Ans: 2,500units
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f 14. ACCOUNTING FOR LABOUR

[i- 2073 Setc @.No. 7]
Define time rate system of wage payment Also mention any, two advantages of it [2+1]
GHYET ATl ST TRATH FEE | AT GEH & 4% FIEAeE geed TR |
. 2072 Set D Q.No_ |
What do you mean by direct wages and indirect wages? [3]
Yege] STl T AYTHE T G & GRS 7 : !
Define piece rate system of wages payment and list out any two disadvantage of it. [2]
TITRTOET FEAT SRR e S yomean gieadn fa AW T IR BT O
THRTEET Fead T BT |
lo. 2072 SetC Q.No. §|
Mention any two differences between fime wage system and piece wage system. [2]
|
State any two advantages of wage payment under piece rate system. [2]
WMWMWWWWWWWWWI
Mention any two advantages of t ime wages syszem ‘ [2]
FHGEY AT YUTATHT H, 75 FIEAee Ieerd THer | ;
f7. 2071 Supp Q.No. 8|
Write with a suitable example about piece wage system of wage payment. [31
TUATH FEEYYT AiEd FTUET JUTAT SAdid Frel ehiAEe aetad |
8. 2071setCQNo.7|

Write:any three disadvantages of pnece wage system ' 13
FTF FATET GUTATET & diae] JEEAEE Aeleld |

B. 2071 SetDQNo. 8|
Write the meaning of time rate system of wage payment. Mention any two disadvantages of
this system. : [31

mwwmﬁw@mmwﬁmwwammmr
10. 2070 Supp Q.No. ﬂ

What do you understand by time rate wage system? Mention its two advantages. [3]
HWHWWWEFTW mwwwms
Wme about any three differences between time wages and piece wages system of wage
payment. [3]
W*W?EW’?WWH%W?WW:
Dnﬁerenuate between time wage system and piece wage system of wage payment. . [2]
SATET HHE T YOI ¥ F1E 3 YO BT gaareaai |

13. 2066 (C) Q.No.7
What is time rate system of wage payment? : : [2]
SUTAT ATl GHY & GOell GHE @ 3

14. 2086 Supp Q.No. 7]
Write the meaning of time and mot.on study. ] 2
THY UF TG AEHE 95 TR | '
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:
Write any two disaduantages of time rate system of wage payment, [2]
HHATT @] GUTEET T 55 TRIEIE TETard |

;_znss Q.No. 12 (Old)]

Write any two steps that should be taken to minimize the frauds in wage payment. 2]
qURSTHE ST B Wmmﬁgwm—mml
Dsfferentfa!e between piece wage system and time wage system in brief. [2]
BIEEATH] FT4%7 JUTAT ¥ FHY JOeran Pl geasae |

|
Gwe two advamages of time wages system. [2]
HHYTL QU F 55 BIEaRedr qeied |

<
Give iwo d;sadvanlages of time wages system ] [2]
FHYR YOS FA 3% THIEIEEAT TEEA | 3
Gwe any two advantages of wages payment under piece rate system. “ [2]
wﬁwmamﬂwmnﬁﬁmwﬁmﬁrwwwmﬁl

-

: Write any two disadvantages of ptece wages system ; [2]
FTHAT AT qfesiae: Saaearsl a0 55 EITFIE‘GT?F TR |
[22. 2080 SUPP. Q.No, 18]

Write any four merits of time rate system of wages payment. 5 [2]
TATAT ARl SHE &¢ wrr»ﬁw F A FIEEEE geod THREE |

Menhon any four advantages of time rate system, - v B
WHAT GO dee WsTAE AT e E5 AwEe. BTeE 9eid
UT-FE?T?T |

[24. 2059 SUPP. Q.No."13

Write any two advantagés of piece wages system. : 2}
Menilon the four merits of time rate system of wages paymenz : {2}
ST THIAHT GHA 37 GUITATET 5 =1 FIgaTes goerd THeTH |

Wnte any four merits of p|ece rate system of wage payment. : 2] .
SHTET ITHIATE] FTE YOI T 9/ FE36s HeE |

NUMERICAL QUESTIONS

127. 2073 Set € Q.No. 19| :
The following information relating to work and remuneration are provided:

Working hours per week 50 hours

Working per year 40 weeks

Output per hour : 2 units

Wage per unit ] Rs. 10 =

Required: Annual eaming } . [2]

' Ans: Rs. 40,000

82073 Sot D Q.No, 20]
Following information relating to wages are given:
Time allowed per unit of output; 45 minutes
- Wages rate per hour: Rs. 240
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Production units: 100 units ‘ :
.Required: Total wages ; ; [2]
Ans: Rs. 18,000

[29. 2072 Supp Q.No. 18}
- The following information are given:

Standard time to produce one unit - 15 minutes | .
Hourly wage rate Rs. 80 .

Total production 1,000 units '

ﬁquired: Wages payable 2]

" Ans: Rs. 20,000

[30. 2072 Set C Q.No. 20

The working hour of a worker for a week is 40 hours. He worked 50 hours in a week. The
normal wage rate is Rs.100 per hour and overtime is paid at 120% of the normal rate. 2

Required: Total eamning of the worker : 2]
Ans: Rs. 5,200

[31. 2072 Set D Q.No. 19
The following information are given relating to wages:

Qutput per hour 4 units

Wage rate per unit Rs.5

Working time for a month 180 hours AT
Required: Total wage for the month ; ! 2]

Ans: Rs. 3,600

[32. 2072 Set E Q.No. 20|

The standard time allowed for one unit of output is 90 minutes. The hourly wages rate is Rs.
100 per hour. A worker produced 20 units.

Required: Total wages of the worker 2]
Ans: Rs. 3,000

[33. 2071 Supp Q.No. 20|
. The following information are given pertaining to wages
Standard time to produce cne unit : 15 minutes
Wages per hour: Rs.60
Qutput per month: 4,000 units s

Required : Wages payable under piece rate system 4 2
Ans: Rs. 60,000

[34. 2071 Set C Q.No. 20|
The time allowed to produce 20 units of output is 1 hour A worker produces 2000 units during
the month. A fixed wage per hour is Rs. 30.

Required: Wage of the worker for the month. ; ; 2
: ] : Ans: Rs. 3,000

[35. 2071 Set D Q.No. 20|

- Following information are given:
Standard output per hour: 10 units
Wage per unit: Rs. 25
Actual worked hour: 40 hours

Required: Total wages of the worker [2
¥ Ans: Rs. 10,000

[36. 2070 Supp Q.No. 20|
The time allowed to produce one unit of output is 30 minutes. The houriy wage rate is Rs. 60
per hour. The worker proceeded 20 units during the day.

Required: Total earnings of the worker > ' 2
: : Ans: Rs. 600

[37. 2070 Set C Q.No. 20|
Following informations are providéd relating wages.
Qutput produced by a worker : 800 units
Time allowed for & units of output -1 hour
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Wage rate per hour :Rs. 120

Required : Wage amount of the worker ; ) [2]
Ans: Rs. 14,400

[38. 2070 Set D Q.No. 20]
Following informations are given related with wages.
Wage rate per hour : Rs. 90
Time required per unit of output : 30 minutes
Output produced by a worker: 500 units

Required: Wage amount of the worker g i 2
Ans: Rs. 22,500

139. 2069 Supp Set A Q.No. 20}
Daily wages of a worker seven hours in a day is fixed Rs. 140. Standard oufput per hour is
fixed 2 units. He produced total 420 units of output of during the month.

Required : Monthly wage amount of the worker. : ; [2]
3 1 - Ans: Rs. 4,200

[40. 2069 Supp Set B Q.No. 20]
~ The following information are given:
Standard information are given;
Standard time to produce ane unit = 30 minutes
Hourly wage rate = Rs. 100
Output produce in 2 month = 10,000 units

Required: Wages payable under piece rate system. : 2]
Ans: Rs. 5,00,000

[41. 2069 (Set A) Q.No. 20|

Following information are prowded in respect of wages:

Time allowed for 10 units of product: 1 hour

Hourly rate: Rs. 40 per hour

Product per day- Mahila 55 units, Kanchha 62 umis

Required: Wages payable to Mahila and Kanchha for one day by using piece wage rate

system. \ [2]
i Ans: Mahila Rs. 220, Kanchha Rs. 248

[42. 2063 (Set B) Q.No. 20]
The time allowed for one unit of output is 20 minutes. The hourly wages rate is Rs. 180 per
hour. A worker produced 10 units

Required: Total eamings by the worker. [2]
: Ans: Rs. 600
|

The time allowed for 10 units of output is one hour. Rate per hour is fixed Rs. 50, Kamal
produced 1,000 units during the month.

Required: Earning of Kamal for the month = [2
Ans: Rs. 5,000

[44. 2068 Supp Q.No. 19|

The standard rate of wages per hour is Rs. 40. The standard time fi xed for one unit is half an
hour, Worker produced 15 units during the period. ‘

Requnred Wages paid to worker. : (2]
Ans: Rs. 300

The szandard output in a day of eight hours is 48 units. The piece rate is Rs.3. A and B worked
for 100 and 90 hours respectively.

Required: Monthly eamings of A and B, ‘ : 2]
] Ans: Rs. 1,800 and Rs. 1,620

l46. 2087 Supp Q.No. 20|
The standard time allowed for one unit of production is 20 minutes. The-hourly wages rate is
Rs. 150 per hour. A worker produced 24 units in a day.

Required: Tota! wages of the worker per day. S 1;[33
ns: Rs. 1,
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47. 2066 (C) Q.No. 20

The standard time allowed for one unit of outputis 15 minutes. The Hourly wage rate is Rs. 40

48. 2066 Q.No. 20

per hour. A worker produced 28 units in a day.
Required: Total earning of the worker.

2]
Aqs: Rs. 280

The weekly working hours in a factory is 48 hours and a worker works 40 weeks, on an

average, during a year. The wage rate per unit is 10, and production units per hour is 20.

Required: Wages payable to a worker for a year by using piece wage rate system.

9.

2066 Su_pp-Q.No. 20|

[2]

Ans: Rs. 3,84,000

In a factory, the standard weekly working hours of a worker is 42 hours and standard output per
hour is 5 units. The hourly rate is fixed at Rs. 6 per unit. The worker worked at the rate of 40

hours in a week.
Required: Annul wage amount of worker under piece rate system

The s%andard output per hour is 5 units. The piece rate is Rs 6 per unit and worker worked 200

hours in a month.
Required: Monthly wage amount of the worker.

The weekly working hours in a factory is 50 hours and a worker works 50 weeks during a year. -

The hourly output is 10 units. The wage rate per unit is Rs. 10.
Required: Wages payable to a worker for a year by using piece wage rate system

52.

2064 Supp. Q.No. 20|

Ans: Rs. 62,400

Ans: Rs. 6,000

2]

(2]

2]
Ans Rs. 2,50,000

A worker engaged in a factory worked 60 hours in a week. The working hour per week is 48
hours and standard wage rate is Rs. 20 per hour. Overiime wage rate is Rs. 15 per hour, which:

is 75% of the standard rate.
Required: Total wages eamed by the worker for one week.

2]

Ans: Rs. 1,140

_[15

. ACCOUNTING FOR OVERHEADS

fi.

2073 Set C Q.No. 8]

Write the meaning of overhead.

AT GEF HY AETRI |

g 2073 Set D Q.No. él

With suitable example write the meaning of variable overhead.
WM’TWWGE%’UQE?F!WI

3. 2072 Supp Q.No. 8} |

Give the meaning of variable overhead wuth. suitable example.

mewﬂaﬁ?ﬁumq@aﬁwﬁmm;

.

2072 Set D Q.No. 8

Clarify the meaning of overhead cost with suitable example
IR Hied ATHE AR d4 TE trrwl_,ﬁ’ﬁr I

E 2072 Set E Q.No. §]

Give the meaning of fixed overhead with example.
garewr afea ey aycgy @¥a ¥4 o 8

k.

2071 Set C Q.No. §|

What do you mean by variable overhead? Give any two examples of it.
iREEAEe AIHE AT Al % TS, ¢ T F 35 SaTe R |

2

2

2l
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7. 2070 Supp Q.No. §] ‘
Write the meaning of fixed and variable overhead. [2
feae qun afvaameiE @<= o4 S ) : _

[8. 2070 Set C Q.No. g : \
Write the meamng of fixed overhead with suitable examples. : [2]
feay arTaeT @9 9Ew SEEvEhEa énﬁm:

g 2070 Set D Q.No. 8|

Write clearly the meaning of apportionment of overhead [2]
AT G AAAAT AT TEATSRTE | :

[10. 2069 Supp Set B @.No. 8
State in brief the meamng of overhead with example 2

ATHE - ATTH 94 IARETH T BIEHFAAT I @ TR |
[11. 2089 (SetA) Q.No. 8|
Write the meaning of allocation of overhead. 12
AT @Y AewieH 79 %qw [ ;
[i2. 2068 (SetB) Q.No. 8] :
With suitable example, write the meaning of allocation of overhead. .3
AU W diSHieH w4 I WAl |
Write in brief the meaning of allocation of overhead. - ; [2]
ma TS ALEEH HT DEHAT eI |
- 3
CIassufy overhead cost accordlng to function. [3]
T ATHTHT A AR FAEL T |
- :
. erte the meamng of allocation of overhead with an example 3
YL GH ASHISH A4 TAIEL Fleet TETRI | :
;
Def ine semi- van’able overhead with suitable example. [2]

SRIETVEEd HguteAeeie FRTaE GieArdT Ffm'”m ! 1
[i7. 2066 Supp Q.No. ] -

Write about semi-variable overhead with suitable example [3]
Wemmﬁawqﬁamsﬁa m*{@—nmmémmn
What do you understand by variable overhead? State any twe features of it. [3]

Mmamm:sa*mrmﬁﬁhﬂmmmﬁml

[19. 2065 Q.No. 13 (Old)]

What do you mean by machine hour rate? [2]
#3f =ver &7 & SAgTE :
Defme f xed overhead with sultable example : [2]
FERET Fﬁiﬁ' ez ArTaeET afvamy 1“3‘{511{ I .

-
erte the meanmg of controflable and uncontrollable overhead with suitable examples. [3]
frE=e 7 At 7 e T e gge @=w 9 IR Aied e |

. [22. 2084 @.No 10 (OLD)]

What do you understand by allocation of overhead? 2 [2)
-AYTE TEE ASHIE T & TS !
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[23. 2084 Q.No. 8 Supp] :
Differentiate between allocation and apporticnment of overhead with suitable example?
TAEAVHET ATCAS TEE! ASHIS 9T FlAHAAT e SEraErd |
:
Give the meaning of fixed overhead with appropriate example.
TEEIUEET (Y @9 99 ARy |
2 Whal do you understand by allocation and appomonment of overhead?
AYAS TEF ASHIS TUT FTATHT = & SRS 7
[26. 2060 SUPP. Q.No. 17|
-Write in short the meaning of overhead.
AT FEA WEHUHT AETad. |
Wnte in bnef the meaning of allocation of overhead.
AT @Y ATHEH AF GEHAT GETE |
[28. 2059 SUPP. Q.No. 13|
What do you mean by controllable and non-controliable overhead?
W?WWWHWW%mr :
Classdy cverheads accordmg toiits functions.
FTAA ATTHT AITE GAFT AN TR0 |
[30. 2058 SUPP. Q.No. 11}
Classify overhead cost according fo confrol.
 fHE=EE an‘m FRET ATH GHH A AGTEIE. |
2057 aNo. 13
In five 10 seven sentences write the meaning of fixed overhead
WW"TWW&‘W’ qﬁfa’f@mﬁmﬁm1

2
ol

[2]

[ 16. UNIT OR OUTPUT COSTING

[1. 2073 setC Q.No. 21
The details of manufacturing and other costs are as under:

Direct material purchased | Rs. 2,40,000| Administrative overhead Rs. 54,000
Carriage on purchase Rs. 4,000| Factory overhead Rs. 70,000
Direct wages i Rs. 1,44,000| Selling overnead Rs. 30,000
Direcf expenses ; Rs. 20,000| Carriage on sales Rs. 2,000
Opening and closing balances:
Particulars ) Opening Rs. | ClosingRs. |
BDiiretd tatarial . e e e S L e S e 60,000 40,000
Work-in-progress 30,000 25,000
R O D L bl il e P i i G ot ; 20,000 30,000
Required: Cost sheet showing the following of details: [1+2+2+2+2+1=10]
a. Cost of material consumed b.  Prime cost
¢. Factory cost _ d.  Costof production
e. Cost of goods sold f. Selling price by 20% prefit on cost

Ans: (a) Rs. 264,000 (b) Rs. 428,000 (c) Rs. 503,000 (d) Rs. 557,000 (e) Rs.547,000 (f) Rs. 694,800

[2. 2073 Set D Q.No. 21|
Cost information of a manufactunng cornpany is given below:

Opening stock: - Closing stock:
Raw materials ...........cccuwcirercne Rs. 1,00,000 Raw materials ........cccerenn. RS, 80,000
Finished goods .............. e 2,000 units Finished goods ... ...3,000 units

Purchased of raw materials ... Rs 400,000 Wages ... e ds e vy g e Rs. 1,00,000
Factory overhead ... Rs. 50,000 Salesofscrap ... cerenen: RS, 5,000
Administrative overhead ........... 10% of pime cost  Selling overhead ........................RS. 5 per unit



Producfion ... ERe
Required: Cosi sheet

11000 UniS POt oot sceennrssenienns
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0% of sales
[10]

Ans: Prime cost Rs. 520,000; Factory cost Rs. 565,000; Cost of production Rs. 617,000; Cost of

goods sold Rs. 560,910; Total cost Rs. 610,910; Profit Rs. 67,879; Sales Rs. 678,788
. 2072 Supp Q.No. 21| -

The details of manufacturing and other ccsts are as under:

Opening stock of raw material
Purchases

Carriage on purchases

Closing stock of raw materials
Direct wages

Factory overhead

Office overhead

Selling and distribution overhead
Units produced ;
Unit sold

Profit on sale

Closing stock

Required: Cost sheet shomng
a. Material consumed

c. Factory cost

Rs. 80,000

Rs. 1,00,000

Rs. 20,000

Rs. 50,000

Rs. 3,00,000

20% of direct wages
10% of factory cost
Rs. 5 per unit
5,000 units

4,000 units

25% .

1,000 units

b.  Prime cost
d.  Productioncost e. Profit : [2x5]

Ans: (a) Rs. 150,000 (b) Rs. 450,000 {c) Rs. 510,000 (d) Rs. 561,000 {e] Rs. 1,56,267

. 2072 Set C Q.No. 21

The information available for cost records for the month ended was as follows:

Purchase of raw materials Rs.1,00,000 -
Carriage inward Rs.2,000
Wages Rs.32,000
Work manager's salary Rs.8,000
Factory employee's salary Rs.16,000
“Factory rent Rs.8,000
_ General expenses Rs.8,000 .
Opening and closing balances:
Opening Closing:
Raw material Rs.4,000 Rs.14,000
Work in progress Rs.8,000 " Rs.4,000
Finished goods Rs.12,000 Rs.4,000
Required: [1+2+2+2+2+1=10]

Cost sheet showing the following details.

a. Cost of material consumed
c. Factory cost
e. Cost of goods sold

b.-  Prime cost
d.  Costof production é
f. Selling price by 20% profit on sales

Ans: (a) Rs. 92,000 (b) Rs. 124,000 (c) Rs. 160,000 (d) Rs. 168,000 (e) Rs. 178,000 (f) Rs."220,000

. 2072 Set D Q.No. 21|

A company showed the following details of its production cost for the previous year:

Direct materials
Direct wages
Factory overhead
Office overhead

Rs.4,00,000

Rs.2,00,000

Rs.1,00,000 .
Rs.70,000

The company wants to estimate the total cost and selling price for next year. The costing

department estimated the cost for:

-~ Direct materials
Direct wages
~ Profit 20% of sales

Rs.50,000
Rs.30,000
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Required: - [3+7=10]
a. Cost sheet of previous year b.  Tender sheet
Ans: (a) Total Cost = Rs. 770,000 (b) Tender price = Rs. 130,625

B. 2072 SetE Q.No. 21|
A firm showed the following details of a product for the previous year:

Direct Material Rs.6,00,000

Direct Labours Rs.4,00,000

Factory Overhead Rs.1,60,000

Office Overhead Rs.2,32,000
The following estimations were made for submitting a tender.

Direct Material Rs.700,000

Direct Labour Rs.500,000

Profiton sale 25% ¥
Required: ' [4+6]
a. Cost Sheet of last year - b.  Tender sheet :

Ans: (a) Total cost Rs. 13,92,000 (b) Tender price = Rs 22,40,000

[7._2071 Supp a.Ne. 21 ‘ y
A company showed the following details of 1,000 units product, production cost for the previous
year: ,
Direct materials: Rs.200,000
Direct wages: Rs.100,000
Factery overheads: Rs.50,000
Office overheads: Rs.35,000 . i
The company wants to estimate the total cost and selling price for 500 units for this year.
Overheads are to be allocated as below:
Factory overhead: On the basis of direct wages
Office overhead: On the basis of factory cost
Profit 25% of cost price :
Required: [4+6]
a.  Cost sheet; previous year b.  Tender sheet
’ Ans: (a) Total cost = Rs. 385,000 (b) Tender price = Rs. 240,625

[B. 2071 setC QNo. 21|
Cost information of a manufacturing company for 5000 units of output are given below:

Qpening stock of raw materials . Purchase of raw materials Rs. 1,70,000
Closing stock of raw materials Rs. 50,000 | Direct wages Rs. 1,20,000
Indirect wages Rs. 80,000 | Indirect materials . Rs. 4,000
Rent factory Rs. 30,000 | Rent office Rs. 6,000
Depreciation Rs. 10,000 | Staffs salary : Rs. 20,000
Salary of salesman Rs. 10,000 | Travelling expenses of
Freight outward Rs. 6,000 salesman Rs. 5,000
Rs. 1,000 | Profit 20% on sale
Required:

a. Statement of cost showing prime cost, Factory cost, Production cost, profit and sales.
b. Percentage of factory overhead on direct wages.

c.  Amount of net profit when it is 25% of total cost. .
Ans: (2) Rs. 260,000; Rs. 314,000; Rs. 3,40,000; Rs. 88,000; Rs, 440,000 (b) 45% (c) Rs. 88,000

{._2071Set D Q.No. 21| ) ,
A production unit showed the following details of its production cost for 2000 units of the

previqus year: o [4-+6]
Direct materials Rs. 50,000 Direct wages: Rs. 30,000
Factory overhead: . Rs. 10,000 Administrative overhead: Rs. 16,000
. Selling expenses: - Rs. 3,000 Profit 20% of-selling prices

The Depariment wants fo estimate the total cost of and selling price for 1000 units. It is
estimated that:



Cost of raw materials will be increased by 20%

Wages cost will be increased by 30%
Other overheads are allocated as under
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Factory overhead on the basis of direct wages office overhead and selhng expenses on the

basis of factory cost.

Required:

a. Cost sheet for previous year b.  Tender sheet with selling price

Ans: (i) Sales Rs. 136,250 (ii) Tender price per unit Rs, 84,778
[10. 2070 Supp Q.No. 21]

A company provides the following information relating to manufacturing of goods:
Opening stock of raw materials |- Rs. 40,000 | Purchase of raw materials Rs. 1,60,000
Closing stock of raw materials Rs. 80,000 | Direct wages Rs. 1,10,000
Indirect wages Rs. 20,000 | Indirect materials Rs. 5,000
Rent factory Rs. 10,000 | Rent office Rs. 5,000
Depreciation on machinery Rs. 10,000 | Office salary Rs. 10,000
Salary of salesman Rs. 4,000 | Travelling expenses of salesman Rs. 4,000
Freight outward Rs, 2,000 | Profit 25% on sales

Required: : :

a. Prime cost b. Factory cost c. Cost of production

d. Profit e. Sales [2+42+242+2)

Ans: (a) Rs. 230,000; (b) Rs. 275,000; (c) Rs. 290,000; (d) Rs. 100,000; (¢) Rs. 400,000

f1. 2070 Set C O.No, 21]

.~ Cost information of a manufacturing company is given below.

Particulars Amount (Rs.)

Material purchased
Direct 3,00,000
Indirect 70,000
Wages
Direct 100,000
Indirect 25,000
Freight on purchases. 30,000
Custom duty 10,000
carriage outward 5,000 -
Other factory expenses 10,000
Depreciation on machinery 16,000
Administrative expenses 90,000
Rent and tax of office building 25,000
Selling and distribution expenses (Rs. 10 per unit sold)

Stock detail:. -

Opening Rs. Closing Rs.

Raw material 35,000 30,000
Work in progress 25,000 20,000
Finished goods 10,000 15,000
Sales: 3000 units @ Rs. 300

Required: Cost sheet showing ]

a. Cost of raw material consumed b. Prime cost

¢. Factory cost d. Cost of production

e.  Cost of goods sold f. Cost of sales

h. Percentage of profit on sales [ X7+3] -

g. Net profit

Ans: (a) Rs. 3,45,000 (b) Rs. 4,45,000 (c) Rs. 5,70,000 {d) Rs. 6,85,000 "

(e) Rs. 6,80,000 () Rs. 7,15,000 (g) Rs. 165,000 (h) 20.56%
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[iz_2070 SetD @No. 21]
Cost informations of a manufacturing company is given below..
Direct material : 30,000 units @ Rs. 20 : Rs. 6,00,000
Direct labour cost : Rs. 3,00,000
Factory overhead : Rs. 1,80,000
Administrative overhead : Rs. 1,08,000 ‘
Selling and distribution overhead : Rs. 54,000
Following estimation of cost was made for submitting a tender.
Direct material : 20,000 units @ Rs. 25 ‘
Direct labour cost : Rs..2,50,000
Basis of allocation of overhead:
e  Factory overhedd on the basis of prime cost:
e Administrative overhead on the basis of factory cost
= Selling and distribution expenses on the basis of factory cost
o Net profit - 10 percent of sales
Required: :
a. Cost sheet of previous period b.  Tender sheet c o [4+6)
Ans: (a) Total cost Rs. 12,42,000; (b) Tender Price Rs. 11,50,000
[13. 2068 Supp Set A Q.No. 21 _
Cost information of a manufacturing company are given below:
Particulars Opening Stock Rs. Closing Stock Rs.
Raw Materials 90,000 1,10,000
Work in Progress 60,000 80,000
Finished goods 30,000 36,000
Additional information of Gost
Raw Materials purchased 4,00,000
Direct wages 3,00,000
Factory Overhead 40 % of direct wages
Adminisfrative Expenses 20 % of factory cost
Selling & Distribution Expenses 60,000
Net Profit 10 % of sales amount
Required : _ ’
a. Value of Material Consumed  b. Prime Cost ¢. Factory Cost
d.. Cost of Production e. Costofgoodssold  f TotalCost | '
g. Net Profit h. Sales Amount [4x1+4x15=10]
- Ans: (a) Rs. 380,000 (b) Rs. 680,000 (c) Rs. 780,000 (d) Rs. 936,000 (¢) Rs. 830,000 (f) Rs. $90,000
- (g) Rs. 110,000 (h) 11,00,000
[i4. 2069 Supp Set B Q.No. 21| '

Following cost information are given:

Raw material Rs.4,00,000  Direct wages Rs. 6,00,000
Indirect wages . Rs.1,00,000  Office operating expenses ~ Rs. 2,00,000
Salary of work staff Rs.50,000  Custom duty Rs. 20,000
Legal expenses. Rs. 80,000  Carriage on sales Rs. 1,00,000
Carriage on purchase Rs. 50,000  Advertisement Rs. 2,50,000
Production 10,000 units . Sales 9,000 units @ Rs. 200 each
Required: y

a. Cost of raw material b. Primecost . ¢. Factory cost

d. Cost of production e. Costofgoodssold . Totalcost

g. Profit

[2+1+1+1+2+2+1=10]

- Ans: (a) Rs. 470,000 (b) Rs. 10,70,000 (c) Rs. 12,20,000 (d) Rs. 15,00,000 (¢} Rs. 13,50,000

(f) Rs. 17,00,000; (g) Rs. 100,000

~



[5. 20889 (Set A) Q.No. 21|

The details of manufacturing and other costs are:
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The following estimation of direct cost and allocation of overhead were made for submitting a

Direct material :Rs. 6,00,000
Direct labour : Rs. 5,00,000
Works overhead - Rs. 1,00,000
Office overhead ~:Rs. 60,000
tender:

Direct material : Rs. 4,00,000
Direct labour :Rs.2,00,000

Works overhead- on the basis of direct labour cost, office overhead- on the basis of factory

cost, profit- 25% on sale.
Required:
a. Cost sheet

 [16._2083 (Set B) @.No. 21|

b. Tender sheet -

[5+5=10]

Ans: (a) Sales Rs. 16,80,000 (b) Tender price Rs. 8,96,000

A company showed the following details of its production cost for 2,000 units of the previous

year:

Direct materials
Factory overheads
Selling expenses

that:

Rs. 40,000  Direct wages
Rs. 16,000  Office overheads
Rs. 2,000 Profit 20% on selling price

The cost of raw materials will be mcreased by 25%.
Wages cost will be increased by 20%.

Qyerheads are to be allocated as below:

Factory overheads on the basis of direct wages, office overheads and selling expenses-on the

basis of factory cost.
Required:
a. Cost sheet (last year)

7. 2068 Q.No. 21

b. Tender shest including séiling price.

. Rs. 20,000
Rs. 8,000

The company wants fo estimate me total cost and selling price for 3,000 units. It i is estimated

[3+7=10]

Ans: (a) Sales Rs. 107,500 (b) Tender price Rs. 197,746

Cost information of a manufacturing company are given below:

Opening (Rs.) Closing (Rs.) |
Raw materials 1,75,000 1,91,500
Work in progress 1,28,000 1,35,500
Finished goods 1,54,000 1,31,000
Sales 10,00,000
Raw materials purchased " 3,686,000
Direct wages 1,52,500
Indirect wages 12,750
Factory rent 1,15,000
Expenses on purchases 11,500
Carriage outward 22,500
Advertisement 13,500
Office rent and taxes 12,500
Selling and distribution expenses 16,500 |,
Depreciation of machinery 13,500 |
Required: Prepare cost sheet showing [1x6+2+2=10]
a. Prime cost b. Factory cost
c. Cost of production d. Cost of goods sold
e. Total cost f. Net profit

g. Percentage of profit on sales

h. Percentage of total cost on sales

Ans: (a) Rs. 5,13,500 (b) Rs. 6,47,250 (c) Rs. 6,59,750 (d) Rs. 6,82,750
() Rs. 7,35,250 (1) Rs. 2,64,750 (g) 26.475% (h) 73.525%
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[18. 2068 Supp Q.No. 21]

The details of the production costof a manufacturin

under:
: Direct materials
Factory overheads

month are;
Direct material
Direct labour

Required: Cost statement for coming month by showing;

a. Prime cost

- d. Total cost

Rs. 6,00,000
Rs. 3,00,000

Rs.5,00,000 Direct labour

Rs. 1,00,000 Office overheads
The company wants to determine the Total Cost and selling price for the coming month. For
this purpose, the company decided to allocate the overhead as follows:
Works Overhead - on the basis of direct labour cost
Office overhead - on the basis of factory cost,
Company wants to yield a profit of 25% on the selling price. The costs estimated for the coming

b. Factory cost
e. Sales amount

g company for the previous month are as

Rs. 250,000
Rs. 85,000

c. Cost of production

Ans: (a) Rs. 900,000 (b) Rs. 10,20,000 (c) Rs. 11,22,000 (d) Rs. 11,22,000 (e) Rs. 14,986,000

19. 2067 Q.No. 21 4

Following particulars are extracted from the records of a manufacturing company:

; Opening (Rs.) Closing (Rs.)
Stock of raw material 40,000 24,000
Stock of work in progress 18,000 15,000
Stock of finished goods 14,000 16,000
Manufacturing wages Rs.96,000
Raw materials purchased 1,60,000
carriage on purchase 2,400
Direct expenses 2,000
Administrative overheads 36,000
Factory overheads 44,500
Selling and distribution overheads - 20.500
Carriage on sales 1,200

Required: A statement of cost sharing:

a. Costof material used.
- d. Total cost

[20. 2067 Supp Q.No. 21]

b.
e.

Prime cost

¢. Cost of production

Profit 25% on sale:

[242+2+242)

Ans: (a) Rs. 178,400 (b) Rs. 276,400 (c) Rs. 359,900 (d) Rs. 379,600 (e) Rs. 126,533

A company showed the following details of its production cost for 1,000 units of the previous

year:
Direct materials

Factory overhead
Selling overheads

Rs. 20,000
Rs. 8,000
Rs. 1,000

Direct wages

Administrative overhead

Profit

Rs. 12,000
Rs. 4,000
20% on selling price

For the determination of total cost and selling price for 500 units, the costing department
y 10% and, increase in direct wages

estimated cost as lender. Raw material cost will increase b

by 20% overhead are to be allocated as below:
Factory overhead on the basis of direct wages. Administrative and selling overhead on the

basis of factory cost.
Required:
a. Cost sheet (Last year)

b. Tender sheet with selling price.

[3+7]

Ans: (a) Total cost Rs. 45,000 (b} Tender price Rs. 32,343.75;
Selling price per unit Rs. 64.6875
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The apenmg and closing balances of inventory for a month are as under
Opening (Rs.) | Closing (Rs.)

Finished goods 45,000 55,000

Raw materials 30,000 40,000
The information provided by the company for the month ended was as follows: :

Purchase of raw material Rs. 3,00,000

Direct wages Rs. 1,50,000
‘Factory overhead 40% of direct wages !

Office overhead 20% of factory cost

Profit 25% of sales value
Required: Cost sheet showing:

b. Prime cost
e. Costof sales

a. Cost of material consumed
d. Cost of production

¢ Factory cost
f.  Salesvalue [1+1+2+2+2+2]

Ans: (a) Rs. 2.80.000 (b) Rs. 4,40,000 (c) 5,00,000 (d) 6,00,000 (e) Rs. 5,80,000 (f) 7,836,567

[22. 2066 Q.No. 21

The following particulars are extracted from the cost records of the last month,

Direct materials used + 20,000 kgs @ Rs. 10 per kg
Direct labour cost 1100% of cost of materials
Factory overheads :50% of direct labour
Administrative overheads : 10% of factor cost

The following estimations were made for submitting a tender:

. The estimated cost of materials is Rs. 30,000.
ii. Direct labour Rs. 30,000.

iii. Factory and administrative overheads will maintain the same relationship as in the last

month.
iv. A profit of 20% on selling price is to be maintained.
Required: A statement of cost and tender price showing:
a. Prime cost b. Factory cost
d. Profit e. Selling price

l:a:s 2066 Supp Q.No. 21|

¢. Cost of production
[5+5]

Ans: (a) Rs. 400,000 (b) Rs. 500,000 (c) Rs. 550,000 (d) Rs. 20,625 (e) Rs. 1,03,125

The opening and closing balances of a factory for the month of Chaitra are as under:

Particulars Opening Bal. (Rs.) Closing Bal.(Rs.)
Raw materials 30,000 25000
Work in progress 15,000 20,000 -
Finished goods (1000 units) 25,000

The information provided for the month are: . .
Direct materials Rs. 2,85,000 Indirect materials Rs. 85,000
Direct wages Rs. 80,000  Indirect wages Rs. 45,000
Custom duty Rs. 15,000  Freight on purchase Rs. 20,000
Administrative expenses Rs. 55,000  Other factory expenses Rs. 15,000
Selling & distribution expenses Rs. 3 per unit Profit 10% of total cost
Production 40,000 units ~ Sales 38,000 units
Required: Cost Sheet showing:”

a. Costof raw material consumed b, Prime cost c. Factory cost

d. Cost of production e. Costofgoodssold f. Cost of sales

g. Sales value ' [2+1+1+1+1+143]

The details of manufacturing and other cost are:

Ans: (a) Rs. 3,25,000 (b) Rs. 4,05,000 (c) Rs. 5,45,000 (d) Rs. 6,00,000
() Rs. 5,80,000 () Rs. 6,94,000 (e) Rs. 7,63,400 .

Openings stock of raw materials ............cooc.coevciuenne. Rs. 1,20,000

Purchaged ...c..ommmnsimsimis s

..Rs. 3,00,000
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Carriage on purchases ...

Closing stock of raw materials .....

Directwages.................,...............

Factory overheads...
Sale of scrap...
Administrative overhead

Required: Cost sheet showing:

Question Bank (Management)- XIl

....Rs. 60,000

o Rs.6,00.000
................... Rs. 95,000

.+ 1R, 500{}

1(}% of d:rect wages
Selling and distribution oost ..............................
Opening stock of finished goods ........c.ccceeen.
Closing stock of finished goods ..........c.cceens
bl produced ..ot
11 OO

Rs. 4 per unit
3,000 units
2,000 units
9,000 units
10% of sales

a. Cost of materials consumed b. Prime cost ¢. Factory cost
d. Cost of production . e. Costofgoodssoldf. Total cost
g. " Profit h. Sales [2+6x1+2=10]

Ans: (a) Rs. 3,66,000 (b) Rs. 9,66,000 (c) Rs. 10,56,000 (d) Rs. 11,16,000 (¢) Rs. 12,40,000 () Rs.

[5. 2065 Q.No. 14 (Old)]
The details regarding & product are:
Stock of finished good at beginning  Rs. 30,000

12,80,000 (g) Rs. 1 42,222 (h) Rs. 14,22,222

Stock of raw material at beginning Rs. 10,000

Work in progress at beginning Rs. 20,000 - Purchases of raw material Rs. 2,50,000
Carriage inward Rs.5,000  Dividend paid Rs. 10,000
Wages Rs. 80,000 Work manager's salary Rs. 20,000
Factory employee's salary Rs. 40,000 Factory rentand taxes Rs. 15,000
Power expenses Rs.5000  General expenses Rs. 20,000

_ Stock of finished goods attheend ~ Rs. 10,000  Stock of raw material at the end Rs. 35,000
Work in progress at the end Rs. 10,000  Profit on sales 20%
Required: Cost sheet showing: :
a. Cost of material consumed b. Prime cost’ ¢. Factory cost

d. Cost of production

e. Cost of goods sold f.

Selling price [1+2+2+2+2+1]

Ans: (a) Rs. 2,30,000 (b) Rs. 3,10,000 (c) Rs. 4,00,000 (d) 4,20,000 (e) Rs. 4,40,000 (f} Rs. 5,50,000

26. 2064 Q.No 21

The following particulars are extracted form the cost records of the last month:

Direct material used
Direct labour cost

Factory overheads (Based on direct labour)
Administrative overheads (Based on factory cost)

Rs. 2,00,000
Rs. 1,40,000
Rs. 70,000
Rs. 82,000

The following estimations have been fixed for submitting a tender:
i. The cost of material Rs. 40,000 and direct labour Rs- 30,000 are required for the tender.

ii. A profit of 20% on selling price is expected.

iii. The factory and administrative overhead wilr maintain the same relation as in the last

month.
Required: A tender showing
a. Prime cost
d. Profit

b. Factory cost C.
e. Tender price.

Cost of production
[1+3+3+2+1=10]

Ans: () Rs. 70,000 (b) Rs. 85,000 (c) Rs. 1,02,000 (d) Rs. 25,500 (e) Rs. 1,27,500

ET 2064 Q.No 14!0LDE

The following figures have been extracted from the cost records:

Direct materials Rs. 3,00,000
Direct wages Rs. 150,000 -
Works overhead Rs. 90,000
Office overhead Rs. 54,000

For submitting a tender, it has been estimated that:
i.  The factory overheads and office overhead will maintain the same relationship with labour

cost and works cost respectively.

ii. A profit of 256% on selling price is expected.

“iil. The cost of material and labour for tender will be Rs. 1,20,000 and Rs. 50,000 respectively.
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Required: Tender price of job showing:
a. Prime cost b. Work cost ¢. Costof production

d. Profitand e. Tender price [143+3+2+1]
Ans: (a) Rs. 1,70,000 (b) Rs. 2,00,000 (c) Rs. 2,20,000 (d) Rs. 73,333.33 (e) Rs. 2,83,333.33

28. 2064 Supp. Q.No. 21}

A manufacturing company submitted the following information on 31%t December, last yeari

Sales for the year- - Rs. 200,000
- Purchase of raw materials -Rs. 40,000
Direct labour cost - Rs. 50,000

Factory overhead was 50% of direct labour cost. Other expenses for the year were:
Selling expenses 15% of sales - )
Administrative expenses 10% of sales

The opening and closing balances were:

1st Jan. 315t Dec.
Raw materials i Rs. 10,000 - Nil
Work in progress Rs. 20,000 Rs. 15,000
Finished goods Rs. 18,000 Rs. 12,000
Required: Cost sheet showing:
a. Prime cost b. Work cost ¢. Cost of production
d. Cost of goods sold e. Costof sales f. Netprofit [2+2+2+2+1+1]
Ans: (a) Rs. 1,00,000 (5) Rs. 1,30,000 (<) Rs. 1,60,000 (d) Rs. 1,56,000 (¢) Rs. 1,86,000 (f) Rs. 14,000
.
A food industry showed the following details of its production for the previous year.
Direct materials -Rs. 250,000 Direct labour : -Rs. 100,000
Factory overhead -Rs.50,000 Administrative overhead - Rs. 40,000

The industry wants to estimate the total cost and its selling price for next lot. The costing
department estimated the direct cost as follows:

Direct materials -Rs. 50,000
Direct labour - Rs. 40,000
Carriage on purchase -Rs. 5,000
Gverheads are to be allocated as below:
Factory overhead - on the basis of direct labour
Administrative overhead - on the basis of faciory cost
Profit ‘ - 20% of sales
Required: :
a. Cost sheet (Previous year) "b. Selling price to be quoted for new lot. [5+5]
Ans: (a) Cost of production Rs. 440,000 (b) Price to be quoted Rs. 158,125
A Toy Manufacturing Company showed the following details of its production department for
the previous year: : T ’
Direct materials Rs. 200,000 Direct labour Rs.’50,000
Works overhead Rs. 25,000 Office overhead Rs. 55,000

The company wants to quote unit price for its product for the next batch. The Costing
Department estimated the direct costs as follows:
Direct Materials Rs. 5,000 Direct Labour Rs. 4,000
Overheads are to be allocated as below: .
- Works overhead:on the basis of Prime cost
. Office overhead:on the basis of Factory cost

Company wants to yield a profit of 25% on cost price.

Required:

a. Costshest ; - b. Tender price [5+5]

Ans: (a) Prime cost Rs. 250,000; Factory cost Rs. 275,000; Cost of production Rs. 330,000

(b) Works overheads 10% on prime cost, Office overheads 20% on factory cost,
Tender price Rs, 14,850
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81. 2061 Q.No. 14

The following figures have been extracted from the cost records of Munal Manufacturing
Company for the year 2058.

Cost of-materials Rs. 2,40,000
Wages for labour ' 2,00,000
Factory overhead (Based on prime cost) © o 1,32,000
Distribution expenses 56,400
Administration expenses 1,34,000
Selling expenses 89,600
Profit 4 O . 1,53,000
A work order is to be executed in 2059 and the following expenses will incur:

Cost of materials - Rs. 32,000
Wages for labour . 223 20,000
Carriage on purchases 3,000

Assuming fthat the rate of factory overhead increased in 2059 by 20%, Distribution,
administrative and selling expenses are based on factory cost, ) i
Required: Quotation price of the job showing: : ‘

a. Prime cost b, . Factory cost ¢.  Cost of production

d. -Cost of sales €. Profit so as fo eam the same percentage of profit on selling price [2x5]"

Ans: (a) Rs. 55,000 (b) Rs. 74,800 (c) Rs. 92,325.64 (d) Rs. 111,414.60 (e) Rs. 20,001.60
32. 2080 Q.No. 14 .

The opening and closing balance of inventories are as below:

! Opening Closing-

Finished goods ) Rs. 30,000 Rs. 35,000
Work-in-progress " Rs. 20,000 Rs. 15,000
Raw materials Rs. 20,000 Rs. SU,M

The other information provided by the company for the month ended was as follows:

Purchase of raw material Rs. 2,00,000

Direct labour cost Rs. 1,10,000

Sales for the month Rs. 6,00,000

Factory overhead ; 50% of direct Iabour.cost -

“Selling expenses 10% of sales :

Administration overhead 10% of factory cost

Required: Cost shest showing:

a. Costof raw material consumed = b. Prime cost c. Workcost

d.  Cost of production e. Gostofgoodssold f  Costof sales g. Net profit

Ans: (a) Rs. 190,000 (b) Rs. 300,000 (c) Rs. 360,000 (d) Rs. 396,000
(e) Rs. 391,000 (f) Rs. 451,000 (g) Rs. 149,000

[83. 2060 SUPP. Q.No. 18]

A manufacturing firm provides following information for production of its product during last
month: . .

Production during the month; . 24,000 units
Raw material purchased for Rs. 1,50,000
Manufacturing overhead . 57,000
Carriage on purchase o 2,160
Administrative expenses . . 45,000
Productive wages paid & , 1,50,000
Carriage outward . 22,500

Balance of the Month are

Opening Closing

Finishedgoods: - 1,500 units | 3,000 units
Rs. 24,000 Rs. 48,000
Wark-in-progress Rs. 7,200 Rs. 24,000

“Raw materials Rs. 30,000 |. Rs. 33,360
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Sales for the month amounted to Rs. 4,95, 000

Required: )

~a. Valueofraw matenal consumed b. Prime cost c. Works cost

d. Cost of production e. Cost of goods sold

f.  Costof sales g. Profit per unit sold [1+1+1+2+2+2+1]

Ans: (a) Rs. 1,48,800 (b) Rs. 2,98,800 (c) Rs. 3,398,000 (d) Rs. 3,84,000
() Rs. 3,560,000 {f) Rs. 3,82,500 (g) Rs. 1,12,500

| 17. COST RECONCILIATION STATEMENT

1

{.

2073 Set C Q.No. 22|

The net profit as per financial account of a company is Rs. 60,000. On verification of financial

and cost account, following facts were located:

i. Factory overhead:
On cost account . Rs. 30,000
On financial account Rs. 40,000

ii. - Administrative expenses undercharged in financial account Rs. 12,000
jii. Closing stock over valued in financial account Rs. 9,000
iv. Dividend received - ' Rs. 15,000

Required: Reconciliation statement of cost and financial account. [5]
Ans: Net profit as per cost account Rs. 34,000

2073 Set D Q.No. 22|

The net profit as per financial account of a company is Rs. 90,000. On reconciliation of financial
and cost account following information were disclosed:

i.  Selling expenses overcharged in cost account Rs. 10,000

ii. Store overvalued in financial account ‘ Rs. 5,000

iii. Dividend paid shown in financial account Rs. 20,000

iv. Interest on investment credited in financial account rs. 15,000

Required Recc)nc:haﬂcn staiement of cost and financial account. X [5]

Ans: Net profit as per cost account Rs. 80,000

2072 Supp Q.No. 22|

On comparison of cost and financial accounts, the following facts were disclosed:

i.  Profit as per cost account Rs. 80,000
ii. Works overhead overcharged in cost account " Rs. 30,000
iii. Office overhead overcharged in financial account Rs. 20,000
iv. Interest from investments: - Rs. 10,000
v.  Over valuation of opening stock in ﬁnarual account Rs. 15,000
Required: Reconciliation statement of cost and financial account [5]

Ans: Profit as per financial account = Rs. 85,000

4. 2072 Set C Q.No. 22|

The net profit as per financial account is Rs.60,000. Reconciling the cost acoount with financial
account, the following discrepancies were revealed:

i. Works overhead under recovered in cost account Rs.5,000.

ii. Office overhead over recovered in cost account Rs.3,000.

iii. Depreciation charged in financial account Rs.5,000 and in cost account Rs.8,000.

iv. Income tax paid Rs.15,000.
Required: 5]
Reconciliation statement of cost and financial account. '

Ans: Net profit as per cost account = Rs. 76,000

2072 Set D Q.No. 29|

The net profit'as shown by the financial account is Rs.2,00,000 on reconciliation, the following
details were ascertained:
i. Selling overheads were not recorded in the cost account; Rs.20,000
ii. Closingstock: Costaccount Rs.50,000
Financial account ‘ Rs.75,000
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jii. Goodwill written off shown in financial account was Rs.5,000

iv. Tax paid * Rs.30,000

Required Reconciliation statement of cost and financial account [5]
Ans: Net profit as per cost account = Rs. 230,000

[6._2072 SetE Q.No. 22
The net profit as shown by the financial account is Rs. 90,000. On reconciliation the foiluwmg
facts were disclosed:
i.  Over valuation of closing stock in cost accounting: Rs. 20,000
ii. . Depreciation overcharged in cost account: Rs. 10,000
iii. Factory overhead under charged in cost account: Rs. 15,000
iv. Interest from invesiment: Rs. 8,000

Required: Reconciliation Statement of Cost and Financial Account: ' [5]
Ans: Net profit as per cost account = Rs. 107,000

[7. 2071 Supp Q.No. 22

The net profit as shown by financial account of a company is Rs.150,000. On reconciliation the
following facts were disclosed.

i.  Work overheads under recovered in cost account: Rs.10,000
ii. Tax paid: Rs.20,000

iii. Opening sfock under valuation in cost acocmnt Rs.5,000.

iv. Dividend credited in financial account Rs.3,000.

Required: Reconciliation Statement of cost and financial account. [5]
- Ans: Net Profit as per cost account = Rs. 182,000

B__2071 setC Q.No. 22|
The net profit as shown by the cost account is Rs. 1 60000 On reconciliation the following
dascrepanc:es were located.
i. Factory expenses in financial account Rs. 30,000 and recovered in cost “account
Rs. 28,000.
ii. - Income tax paid in financial account Rs. 12,000.
iii. Intefest income credited in financial account Rs. 3,000 - )
iv. Administrative expenses over recovered in cost account by Rs. 10, 000 =

Required: Reconciliation statement of cost and financial account. 5]
Ans: Net profit as per financial account Rs. 159,000

B._2071setDaNo. 23 '
Net profit as shown by Cost Account is Rs. 20,500. ' 5]
On reconciliation with Financial Account, the following facts were disclosed:
) i Expenses charged in
Hesds of Fpendiones - Cost Account Financial Account
Direct wages . Rs. 12,000 Rs. 15,000
Factory Expenses Rs. 10,000 |. Rs. 13,000 -
Admin, Expenses ‘Rs. 15,000 Rs. 12,000
Stock valuation at close : Rs. 25,000 Rs. 22,000
Bank Interest Rs. 1,000

Required: Reconciliation Statement between Cost and Financial Account Profit . ‘
Ans: Net profit as per financial account Rs. 13,500

[10. 2070 Supp Q.Ne. 22]
The net profit as shown by financial account of a company is Rs. 63,000. On reconciliation the
following facts were disclosed.
i. Factory overhead over absorbed in cost account: Rs. 800
ii. Administrative overhead under absorbed in cost account: Rs. 2,500 .
iii. Closing stock over evaluation in cost account: Rs. 3,800
iv. Selling overhead over absorbed in cost account: Rs. 6,500

Required: Reconciliation statement of cost and financial account - 5
Ans: Net profit as per cost alc Rs. 68,000
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fi1. 2070 SetC Q.No. 22| -
The net profit as per financial account of a company is Rs. 1,30,000. On reooncmahon of
financial and cost account following facts were located.
i. Depreciation
On financial account Rs. 32,000
On cost account Rs. 40,000
ii. Administrative expenses
On financial account Rs. 45,000
On cost account Rs. 35,000
iii. Income tax paid shown in‘financial account Rs. 7,000
iv. Interest on investment credited in financial account Rs. 5,000

Required: Reconciliation statement of cost and financial account 5]
Ans: Net profit as per cost account 1,34,000

112, 2070 Set D @.No. 22|
The net profit as per Financial Account of a company is Rs. 2,70,000. On reconciliation of
financial and cost account following informations were disclosed.
i.  Depreciation overcharged in cost account: Rs 13,000
ii. Administrative expenses under recovered in cost account Rs. 15,000
jiil. Bank interest credited in financial account Rs. 10,000
iv. Payment of dividend shown in financial account Rs. 25,000

Required: Reconciliation statement of Financial Account and Cost Account
Ans: Net Profit as per cost Alc Rs. 287,000

«[13. 2088 Supp Set A Q.No. 22|
The net profit of a company ds per financial account was Rs. 70,000. On reconcllnng the cost
and financial account following differences were noted.
i.  Faclory overhead stated in cost account Rs. 70,000 and in financial account R. 80,000.
ii. Administrative expenses undercharged in financial account Rs. 14,000. i
iii. Dividend received recorded in financial account Rs. 16,000. _
iv. Value of closing stock stated in financial account Rs. 30,000 and in cost account
Rs. 12,000.

Required: Reconciliation Statement of financial and cost accounting. [5]
Ans: Net profit as per cost account Rs. 32,000

[14. 2069 Supp Set B Q.No. 22|
Following information are given:
i. Netloss as per financial accounting Rs 50,000
ii. Daprecialion: Financial accounting Rs. 15,000
Cost accounting Rs. 20,0000
fil. Administrative expenses under recorded in cost accounting Rs. 5,000.
iv. Interest on loan Rs. 1,000 recorded in financial account.
v. Profit on sale of machinery Rs. 5,000 recorded in financial account.
Required: Reconciliation statement of cost and financial account. [5]

Ans: Net loss as per cost account Rs. 54,000
[‘!5 20689 (Set A) Q.No. g

On comparison of cost and financial accounts the followmg dlfferenoes were noticed:
i.  Net profit as per financial account Rs. 74,000 -

ii. Over valuation of closing stock in cost account Rs. 15, 000

iii. Works overhead over recorded in cost account Rs. 5,000 -

iv. Administrative overhead recorded over recorded in financial account Rs. 10,000.
v. ' Dividend recorded in financial account Rs. 6,000

vi. Bank interest debited in financial account Rs. 8,000

Required: Reconciliation statement between financial and cost account.
Ans: Net profit as per cost account Rs 108,000
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[16. 2063 (Set B) Q.No. 22]

The net profit as shown by the financial account of a company is Rs. 1,50,000. On
reconciliation the following facts were disclosed:;
I Factory overheads under charged in cost account Rs. 20,000
ii. ~ Office overheads under charged in financial account Rs. 15,000
iii. Depreciation charged in financial account Rs. 6,000 and cost account Rs. 7,000
* Interest on investment credited in financial account Rs. 5,000
Requured Reoonmliation statement between cost and financial account. [5

. Ans: Net profit as per cost account Rs. 1,49, oog

-

; The net prof t shown by cost account is Rs. 1,20,000. Reconciling ihe cost and financial
accounts following descriptions were located:
i. Works overhead recovered: in financial account Rs. 30,000 and in cost account

Rs. 25,000.

ii. Depreciation charged in financial account Rs. 20,000 and in oost account Rs 24,000.
iii. Income tax paid in financial account Rs. 10,000.
iv. _Interest income eredited in financial account Rs. 5,000.
Required Reconciliation statement of cost and financial account. ; [5]

Ans: Net profit as per financial account Rs. 1,14,000
[18. 2068 Supp Q.No. 22|
The net profit shown by financial acoount is Rs. 50,000 on verification the following differences
were notified. "
i.  Office overhead shown by financial account was Rs. 70,000: But it was shown as Rs.
- 50,000 in cost account.
ii. Depreciation undercharged in financial account Rs. 10,000.
iii. Dividend received recorded in financial account Rs. 20,000.
iv. Income tax of Rs. 40,000 is not recorded in cost account.
Required: Reconciliation statement between financial @nd cost account

 Ans: NP as per Cost a/c Rs. 80,000
9. 2067 Q.No. 22|

On compression cost and financial accounts ihe following facts were disclosed:

i.  Interest on Investments recsived Rs.3,500
il. Work over head over charged in cost Alc | 5,000
iii. Administrative overhead over charged in Financial Alc - 2,500
iv. Over valuation of opening stock in financial Alc = 2,000
v.  Under valuation of closing stock in cost Alc . 3,000
vi. Net profit as per cost account ' 44250

Required: Reconciliation statement of cost and financial account.

Ans: NP as per financlal account Rs. 51,250
. [20. 2087 Supp Q.Ne. 22|
The net profit shown by financial account is Rs. 60,000 while reconciling the cost and fi nanc;a]
accounts the following facts were disclosed:
. Works overheads recovered in cost account Rs. 15,000 in financial account Rs. 5,000
ii. Dividend credited in financial account Rs. 6,000
iii. Depreciation charge in financial account Rs. 2,000 but Rs. 20,000 in cost account.
iv. Income tax paid Rs. 5,000.
v.  Provision for Bad debts in financial account Rs. 1,000. - :
Required: Reconciliation statement of cost and financial account, [5]

Ans: Net profit as per cost account Rs 32 000
“The net prof it as shown by cost account is Rs 1,50,000. On varification of two accounts the
following details were ascertained:
i. Works overhead under recovered in cost account Rs, 15,000
ii.  Bank interest credited in financial account Rs. 6,000
iil. Opening sfock: Cost account Rs. 50,000; Financial account Rs. 40.000
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iv. Provision for doubtful debts in ﬁnancia;i account Rs. 5,000
v. A profit of Rs. 10,000 on sale of old machine was dealt in financial account.
Required: Reconciliation statement between financial and cost account. i {5

Ans: Profit as per financial account Rs. 1 ,56,000
The net proﬁt as per financial account of a trader was Rs. 35,000. On reconciliation the
following differences were noticed:
i. Factory Ogverheads recorded in cost account Rs. 60,000 but debited in financial account

Rs. 65,000

ii. Office and administrative overhead under charged in financial accounting Rs. 7,000.
jii. Dividend received recorded in financial accounting only Rs. 8,000
iv. Closing stock undervalued in cost accounting by Rs. 9,000.

Requlred Recongiliation statement between financial and cost accounting. ' 5
Ans: Profit as per cost account Rs. 16,00

The net proﬁt as per Cost Account of a company is Rs. 1,50,000. On reconciliation, the

following details are ascertained: .

i.  The factory expenses shown in financial account is Rs. 25 000 but the amount recovered
in cost account is Rs. 20,000. .

ii. Goods will written off shown in financial account is Rs. 8,000

iii. Amount credited for dividend in financial account is Rs. 15,000

iv. Deprecx;élgn shown.in financial account is Rs. 66,000 but charged in cost account is
Rs. 75

Required: Reconciliation Statement of cost and financial account.

Ans: Net profit as per financial account Rs. 1,61,000
, .
The net profit as shown by the financial account of a company is Rs. 1,80,000. On the
reconciliation following facts were disclosed:
i. Works overhead over recovered in cost account by Rs. 25,000
ii. Administrative expenses under recovered in cost account by Rs. 15,000.
iii. Bank interest credited in financial account by Rs. 4,500.
iv. Depreciation under charged in cost account Rs. 2,500.
Required: Reconciliation statement of cost and fihancial account.

' Ans: Net profit as per cost account RS. 1,68, o[t?g
The net profit as per financial account was Rs. 42,000. On reconciliation, the following
differences were noticed:-

i.  Works overhead under recovered in cost account Rs. 6,000.

ii. Interest charged in financial accounts Rs. 4,000

iii. Opening stock overvalued by financial account Rs. 10,000.

iv. A profit of Rs. 5,000 on sales of fixed assets was shown in financial account.

Required: Reconciliation between financial and cost account. SJ

Ans: Profit as per cost account Rs. 57.0{0 2
The followmg mfonnatlon are provided:

Net profit as per cost account -Rs. 1,00,000

|| Works overhead recovered: N
Cost account - Rs. 20,000
Financial account - Rs. 25,000

~iii. Administrative overhéad over-absorbed in cost account -Rs. 8,000

iv. Bank-interest credited in financial account " -Rs. 10,000

v. Income tax paid -Rs. 20,000

Requlred Reconciliation statement of cost and financial account. [5

Ans: Net profit as per financial account Rs. 93,000





